s T O L O BERS = L oIk EB R (A3 4E4 A 1 ABLE)

1TBOSAG R (INERERE - TAESFE)
sy | ERAIEHERIE R I HES D Tk B2 PR Tt b B
’ HHE & 72 2 ik N | %) [ N | OO | %) | Eps
TF 2
Ui | B U OBk 21 14.3
; 2 g
2 114.3 | =
W
o ST O I O o é
2%% %%%M%&?é%%%ﬁb% 0 0.0
175
)
TAE: *
TAE AR 7 150.0 | %
. . )
o R, FEXTE 2 —RkED
3tk [ 8| 57.1 =E - o
1| 7.1 | E
)
Eetan 1 *
1| 7.1 | 1=
1 BRME, BE. FHRK w
k. by —FK, STREE 5B ! —
HEZBSHEFESITHESRE o £
s DS 2| os 6 B 1 2 114.4 | E
o mE. BEIEEL X —K - %
£ CIRIEE 72 2655 TS B D Hk FryEpe ! p
%gg@%ﬁ%%gk¢6%% & %
AT O Bkws SRR
e
i 4 )
1 SEHEEE
2&%E\$%Eﬁxuiﬁﬁ
Y @H‘J—%ﬁ
R e L 5 7 >3 N
VX O R L < TR BR & )
FL T LT OB = 0 A
ol 0.0 E
W
REtFEE, REROUIFERE
6% CINEE 72 ¥ 5 L8 E O e 0 0.0
! LIIRBRAEVE LT ¥ :
179 s
H 0
&t 14 ] 100.0




